Sr Questions Answers Choice
1 A conditional "if p then q" is denoted by
2 If p and g are two statements then their conjunction is denoted by
3 If P is a proposition then its negative is denoted by
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4 A statement which is either true or false is called C. Propositicon
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Two sets A and B are said to be disjoint if

If A and B are two sets then intersection of A and B is denoted by

Write down the power set of {9, 11}

What is the number of elements of the power set of { }

What is the number of elements of the power set of {0, 1}

If n(A) = n then n(P(A)) is
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